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He granted it to those that will be born; — 11p X®7 "1 9277 29791 7177
is it indeed so that they do not acquire it

OVERVIEW

R explained the reason w'"nyn is effective is because it is considered as if the
MY (7po1) said to the (7°pon) m7n at the time of the loan, ‘T am committing myself
to pay you or anyone whom you designate that I should pay’. WX 27 challenged
TR that according to your explanation it turns out that 1P X?7 1"7 2°791% mIpn.
There appears to be different nIX07% here and NMdOIN explains the statement of 27
"WX according to both MXDI.

— 3P RYT 9123 290 MYN 151 NYWA 1927 1791 XOY NWOY 19¥N03 0100 NIpH w9
The explanation of 237511 71757 means that he granted the loan through @' »y»
to those who were not as yet born when the money was given from the mb» to
the m?; and *wx 21 asks will it indeed be so that they will not acquire it."

Moo addresses another X0
— VN2 22N NPT 2) DN Y09NT 09909

And according to the texts that read; ‘is it indeed so that they do acquire it’,

this is the explanation of s"wx 27 (rhetorical) question -
— 119 Y199 KOY 1937 HYYA DA KYT DUV TOPR NI NP 132 BTN P

If he granted it to 2>7%11, who were not born when the 17 was made, with a
general 1°1p, not w''nyna -

219 YINN 11992 129N 137 INUHY Ty XNT 1P 33) 291
Is it indeed so that they acquire it (they should according to you n°%R), since by
w''ayn they acquire it even if they were born after the loan was given.

SUMMARY
We can be 07 either 1P 897 1"7 or 1p7 1"1. The question is the same; how can
w"nyn be effective to a 09w X2 X7w 127

THINKING IT OVER
How is X07°2 M990 (even the first one) different than ours?*

! The 723w of the MY to the M (and TnnA» 1NXT 93) was made when the loan was given; however since these 072
were not born as yet, it is a case of 077 X2 K7W 1277 mIpn, were all agree that he is not 71p.
? See w"w".
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